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https://www.yangsan.go.kr/portal/contents/popup/corona/corona19.jsp
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https://www.namhae.go.kr/health/corona/View.do?&pageCd=HF0306000000&siteGubun=health
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https://www.miryang.go.kr/data/popup/20200224/COVID19.html%20%20
https://www.miryang.go.kr/data/popup/20200224/COVID19.html
http://www.jinju.go.kr/05190/05641.web
http://www.jinju.go.kr/05190/05641.web
https://www.hadong.go.kr/01036/03369.web
https://www.tongyeong.go.kr/01174/04510.web
https://www.sacheon.go.kr/intro/01613/03928.web
https://www.namhae.go.kr/health/corona/View.do?&pageCd=HF0306000000&siteGubun=health
https://www.namhae.go.kr/health/corona/View.do?&pageCd=HF0306000000&siteGubun=health
https://www.namhae.go.kr/health/corona/View.do?&pageCd=HF0306000000&siteGubun=health
https://www.namhae.go.kr/health/corona/View.do?&pageCd=HF0306000000&siteGubun=health
https://www.namhae.go.kr/health/corona/View.do?&pageCd=HF0306000000&siteGubun=health
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http://www.gimhae.go.kr/03360/00023/05877.web
http://www.yangsan.go.kr/portal/contents/popup/corona/corona19.jsp
https://www.changwon.go.kr/index3.html
http://www.geoje.go.kr/index.geoje?contentsSid=12198
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https://www.namhae.go.kr/health/corona/View.do?&pageCd=HF0306000000&siteGubun=health
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http://www.gimhae.go.kr/03360/00023/05877.web
https://www.gimhae.go.kr/03360/00023/05877.web
https://www.cng.go.kr/cng-popup/00005548.web
https://www.cng.go.kr/cng-popup/00005548.web
https://www.cng.go.kr/cng-popup/00005548.web
http://www.jinju.go.kr/05190/05641.web
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http://www.gimhae.go.kr/03360/00023/05877.web
http://www.geoje.go.kr/index.geoje?contentsSid=12198#tit
https://www.namhae.go.kr/health/corona/View.do?&pageCd=HF0306000000&siteGubun=health
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https://www.changwon.go.kr/index3.html
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